
Questionc

InstructRAG 

Language Model

<latexit sha1_base64="fflT8DIRgZ1NzRM/p9XN3nEVhs4=">AAAB6HicbVDLTgJBEOzFF+IL9ehlIjHxRHaNQY9ELx4hkUcCGzI79MLI7Ow6M2tCCF/gxYPGePWTvPk3DrAHBSvppFLVne6uIBFcG9f9dnJr6xubW/ntws7u3v5B8fCoqeNUMWywWMSqHVCNgktsGG4EthOFNAoEtoLR7cxvPaHSPJb3ZpygH9GB5CFn1Fip/tgrltyyOwdZJV5GSpCh1it+dfsxSyOUhgmqdcdzE+NPqDKcCZwWuqnGhLIRHWDHUkkj1P5kfuiUnFmlT8JY2ZKGzNXfExMaaT2OAtsZUTPUy95M/M/rpCa89idcJqlByRaLwlQQE5PZ16TPFTIjxpZQpri9lbAhVZQZm03BhuAtv7xKmhdlr1Ku1C9L1ZssjjycwCmcgwdXUIU7qEEDGCA8wyu8OQ/Oi/PufCxac042cwx/4Hz+AN8vjQA=</latexit>q
Retrieved 

documents

Doc #2
<latexit sha1_base64="YzYyeA0LZ0NcirANyBYgC4dMSec=">AAAB6nicbVBNS8NAEJ34WetX1aOXxSJ4KkmR6rHoxWNF+wFtKJvNpF262YTdjVBKf4IXD4p49Rd589+4bXPQ1gcDj/dmmJkXpIJr47rfztr6xubWdmGnuLu3f3BYOjpu6SRTDJssEYnqBFSj4BKbhhuBnVQhjQOB7WB0O/PbT6g0T+SjGafox3QgecQZNVZ6CPvVfqnsVtw5yCrxclKGHI1+6asXJiyLURomqNZdz02NP6HKcCZwWuxlGlPKRnSAXUsljVH7k/mpU3JulZBEibIlDZmrvycmNNZ6HAe2M6ZmqJe9mfif181MdO1PuEwzg5ItFkWZICYhs79JyBUyI8aWUKa4vZWwIVWUGZtO0YbgLb+8SlrViler1O4vy/WbPI4CnMIZXIAHV1CHO2hAExgM4Ble4c0Rzovz7nwsWtecfOYE/sD5/AHyP42Y</latexit>

d2

<latexit sha1_base64="r8W2eYnoFQcqPN4bL6QPXfDdmDA=">AAAB7XicbVBNS8NAEJ3Ur1q/qh69BIvgqSQi1WPRi8cK9gPaUDabTbt2sxt2J0Ip/Q9ePCji1f/jzX/jts1BWx8MPN6bYWZemApu0PO+ncLa+sbmVnG7tLO7t39QPjxqGZVpyppUCaU7ITFMcMmayFGwTqoZSULB2uHodua3n5g2XMkHHKcsSMhA8phTglZq9Wik0PTLFa/qzeGuEj8nFcjR6Je/epGiWcIkUkGM6fpeisGEaORUsGmplxmWEjoiA9a1VJKEmWAyv3bqnlklcmOlbUl05+rviQlJjBknoe1MCA7NsjcT//O6GcbXwYTLNEMm6WJRnAkXlTt73Y24ZhTF2BJCNbe3unRINKFoAyrZEPzll1dJ66Lq16q1+8tK/SaPowgncArn4MMV1OEOGtAECo/wDK/w5ijnxXl3PhatBSefOYY/cD5/ALHpjzo=</latexit>· · ·

Doc #1d1

Doc #N
<latexit sha1_base64="N5mGkES5o9RFAdgFfrEDANnNW6Y=">AAAB6nicbVBNS8NAEJ3Ur1q/qh69LBbBU0lEqseiF8FLRfsBbSibzaRdutmE3Y1QSn+CFw+KePUXefPfuG1z0OqDgcd7M8zMC1LBtXHdL6ewsrq2vlHcLG1t7+zulfcPWjrJFMMmS0SiOgHVKLjEpuFGYCdVSONAYDsYXc/89iMqzRP5YMYp+jEdSB5xRo2V7sP+bb9ccavuHOQv8XJSgRyNfvmzFyYsi1EaJqjWXc9NjT+hynAmcFrqZRpTykZ0gF1LJY1R+5P5qVNyYpWQRImyJQ2Zqz8nJjTWehwHtjOmZqiXvZn4n9fNTHTpT7hMM4OSLRZFmSAmIbO/ScgVMiPGllCmuL2VsCFVlBmbTsmG4C2//Je0zqperVq7O6/Ur/I4inAEx3AKHlxAHW6gAU1gMIAneIFXRzjPzpvzvmgtOPnMIfyC8/ENGDKNsQ==</latexit>

dK

 Input: <same as in vanilla RAG>
 Output: The second document mentions… None of the other 
 documents are relevant… Therefore, the answer is <answer>

p✓(r|q, d1, . . . , dK)
Learning Objective

Rationaled<latexit sha1_base64="2SPptCeD1eiJ0THbMRXiSdbO81E=">AAACCnicbVC7SgNBFJ2NrxhfUUub0RCIEMKuSLQM2gg2EcwDkmWZnZ0kQ2YfztwVwpraxl+xsVDE1i+w82+cJFto4oGBwzn3cOceNxJcgWl+G5ml5ZXVtex6bmNza3snv7vXVGEsKWvQUISy7RLFBA9YAzgI1o4kI74rWMsdXk781j2TiofBLYwiZvukH/AepwS05OQPZa4YOV0YMCAl8nBXxp5jlXHXC0FN+PWxky+YFXMKvEislBRQirqT/9JpGvssACqIUh3LjMBOiAROBRvnurFiEaFD0mcdTQPiM2Un01PGuKgVD/dCqV8AeKr+TiTEV2rku3rSJzBQ895E/M/rxNA7txMeRDGwgM4W9WKBIcSTXrDHJaMgRpoQKrn+K6YDIgkF3V5Ol2DNn7xImicVq1qp3pwWahdpHVl0gI5QCVnoDNXQFaqjBqLoET2jV/RmPBkvxrvxMRvNGGlmH/2B8fkD4YeYfQ==</latexit>r

Questionc

Language Model

<latexit sha1_base64="fflT8DIRgZ1NzRM/p9XN3nEVhs4=">AAAB6HicbVDLTgJBEOzFF+IL9ehlIjHxRHaNQY9ELx4hkUcCGzI79MLI7Ow6M2tCCF/gxYPGePWTvPk3DrAHBSvppFLVne6uIBFcG9f9dnJr6xubW/ntws7u3v5B8fCoqeNUMWywWMSqHVCNgktsGG4EthOFNAoEtoLR7cxvPaHSPJb3ZpygH9GB5CFn1Fip/tgrltyyOwdZJV5GSpCh1it+dfsxSyOUhgmqdcdzE+NPqDKcCZwWuqnGhLIRHWDHUkkj1P5kfuiUnFmlT8JY2ZKGzNXfExMaaT2OAtsZUTPUy95M/M/rpCa89idcJqlByRaLwlQQE5PZ16TPFTIjxpZQpri9lbAhVZQZm03BhuAtv7xKmhdlr1Ku1C9L1ZssjjycwCmcgwdXUIU7qEEDGCA8wyu8OQ/Oi/PufCxac042cwx/4Hz+AN8vjQA=</latexit>q
Retrieved 

documents

Doc #2
<latexit sha1_base64="YzYyeA0LZ0NcirANyBYgC4dMSec=">AAAB6nicbVBNS8NAEJ34WetX1aOXxSJ4KkmR6rHoxWNF+wFtKJvNpF262YTdjVBKf4IXD4p49Rd589+4bXPQ1gcDj/dmmJkXpIJr47rfztr6xubWdmGnuLu3f3BYOjpu6SRTDJssEYnqBFSj4BKbhhuBnVQhjQOB7WB0O/PbT6g0T+SjGafox3QgecQZNVZ6CPvVfqnsVtw5yCrxclKGHI1+6asXJiyLURomqNZdz02NP6HKcCZwWuxlGlPKRnSAXUsljVH7k/mpU3JulZBEibIlDZmrvycmNNZ6HAe2M6ZmqJe9mfif181MdO1PuEwzg5ItFkWZICYhs79JyBUyI8aWUKa4vZWwIVWUGZtO0YbgLb+8SlrViler1O4vy/WbPI4CnMIZXIAHV1CHO2hAExgM4Ble4c0Rzovz7nwsWtecfOYE/sD5/AHyP42Y</latexit>

d2

<latexit sha1_base64="r8W2eYnoFQcqPN4bL6QPXfDdmDA=">AAAB7XicbVBNS8NAEJ3Ur1q/qh69BIvgqSQi1WPRi8cK9gPaUDabTbt2sxt2J0Ip/Q9ePCji1f/jzX/jts1BWx8MPN6bYWZemApu0PO+ncLa+sbmVnG7tLO7t39QPjxqGZVpyppUCaU7ITFMcMmayFGwTqoZSULB2uHodua3n5g2XMkHHKcsSMhA8phTglZq9Wik0PTLFa/qzeGuEj8nFcjR6Je/epGiWcIkUkGM6fpeisGEaORUsGmplxmWEjoiA9a1VJKEmWAyv3bqnlklcmOlbUl05+rviQlJjBknoe1MCA7NsjcT//O6GcbXwYTLNEMm6WJRnAkXlTt73Y24ZhTF2BJCNbe3unRINKFoAyrZEPzll1dJ66Lq16q1+8tK/SaPowgncArn4MMV1OEOGtAECo/wDK/w5ijnxXl3PhatBSefOYY/cD5/ALHpjzo=</latexit>· · ·

Doc #1d1

Doc #N
<latexit sha1_base64="N5mGkES5o9RFAdgFfrEDANnNW6Y=">AAAB6nicbVBNS8NAEJ3Ur1q/qh69LBbBU0lEqseiF8FLRfsBbSibzaRdutmE3Y1QSn+CFw+KePUXefPfuG1z0OqDgcd7M8zMC1LBtXHdL6ewsrq2vlHcLG1t7+zulfcPWjrJFMMmS0SiOgHVKLjEpuFGYCdVSONAYDsYXc/89iMqzRP5YMYp+jEdSB5xRo2V7sP+bb9ccavuHOQv8XJSgRyNfvmzFyYsi1EaJqjWXc9NjT+hynAmcFrqZRpTykZ0gF1LJY1R+5P5qVNyYpWQRImyJQ2Zqz8nJjTWehwHtjOmZqiXvZn4n9fNTHTpT7hMM4OSLRZFmSAmIbO/ScgVMiPGllCmuL2VsCFVlBmbTsmG4C2//Je0zqperVq7O6/Ur/I4inAEx3AKHlxAHW6gAU1gMIAneIFXRzjPzpvzvmgtOPnMIfyC8/ENGDKNsQ==</latexit>

dK

 Input: <retrieved documents> Based on your knowledge and
 the provided information, answer the question: <question>
 Output: <answer>

Learning Objective

Vanilla RAG

Answerd<latexit sha1_base64="wU9N8iAZUxUZhrRaMUhOas7zCJM=">AAAB6HicbVBNS8NAEJ34WetX1aOXxSJ4KolI9Vj04rEF+wFtKJvtpF272YTdjVBCf4EXD4p49Sd589+4bXPQ1gcDj/dmmJkXJIJr47rfztr6xubWdmGnuLu3f3BYOjpu6ThVDJssFrHqBFSj4BKbhhuBnUQhjQKB7WB8N/PbT6g0j+WDmSToR3QoecgZNVZq0H6p7FbcOcgq8XJShhz1fumrN4hZGqE0TFCtu56bGD+jynAmcFrspRoTysZ0iF1LJY1Q+9n80Ck5t8qAhLGyJQ2Zq78nMhppPYkC2xlRM9LL3kz8z+umJrzxMy6T1KBki0VhKoiJyexrMuAKmRETSyhT3N5K2IgqyozNpmhD8JZfXiWty4pXrVQbV+XabR5HAU7hDC7Ag2uowT3UoQkMEJ7hFd6cR+fFeXc+Fq1rTj5zAn/gfP4Axu+M8A==</latexit>a

p✓(a|q, d1, . . . , dK)

Mθ Mθ


